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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the question paper.

Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your question paper code No. 44/AS/3—A on the answer-book.

(a) The question paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours
only.
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SCIENCE AND TECHNOLOGY

(= IR Tefe)
212)
Time : 2% Hours] [Maximum Marks : 85
w21 ] [quries : 85
Note : (1) All questions are compulsory.

(2) Marks are given against each question.
Rt 2 (1) |M yew fEE ¥
(2) UAF YT & o Igh G u W™ ¥ )

1 Which of the following is not a unit of work ? 1
(A) kg m/s? (B) kg m?/s?
(C) Nm (D) joule
frlfad & 9 &9 & &1 A=E @ o7 7
(A) kg m/s? (B) kg m?/s?
(C) Nm (D) @
2 542 ns are equivalent to 1
(A) 542 x 10 s (B) 542 x 10° s
(C) 542 x 1077 s (D) 542 x 1079 s
542 ns foha H%E % g ¥ °
(A) 542 x 10 s (B) 542 x 10° s
(C) 542 x 1077 s (D) 542 x 1079 s

44/AS/3—4212_A ] 3 [ Contd...



3 Isotopes are atoms of the same element, which have 1
(A) same mass numbers and same atomic numbers.
(B) different mass numbers and different atomic numbers.
(C) same mass numbers and different atomic numbers.

(D) different mass numbers and same atomic numbers.
TS T® 8 q & qY] § e

(A) UM TN WA qUT 99 URET] §Ed el §)
(B) T gow™ €@ aur =1 ITY] §e Edl )
(C) ¥M SoI9M el qul =T URE] 6w ¥
(D) = FogvM €@ 99 99 U] €@ el 2

4 Rutherford's "alpha particles scattering experiment" resulted in the discovery of 1
(A) proton (B) electron
(C) nucleus of the atom (D) neutron
(A) WrET @ (B) ST bl
(C) uTA] H e @l (D) =IZE W
5 The velocity-time graph given below shows that the object is 1
(A) at rest. (B) in uniform motion.
(C) in non-uniform motion. (D) moving with uniform acceleration.
@
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Time (F73) (§) ———>

TR e T o9 - gHE aw qenan s iR oAy
(A) "™ oErm ¥ %) (B) THEGHH A H B
(C) oM T o ¥ (D) THEHH @O ¥ T )
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6 Which one of the following forms of energy is mot a manifestation of solar 1
energy ?

(A) Nuclear energy
(B) Wind energy
(C) Energy from hydroelectric power plant

(D) Energy from fossil fuels
frafafaa & & 58 "R & IS0 @R Fo0 @ At @ o§ 7

(A) I el

(B) W Sl

(C) wWfaga € ¥ U< Sl
(D) Hag™ Ol G YT el

7 The first living organism originated in 1
(A) atmosphere (B) outer core of the earth
(C) desert (D) ocean
Fivem St e B s g
(A) argred ¥ (B) Y& B I wiE H
(C) weww o (D) weErR
8 Which one of the following is NOT a member of the phylum Arthropoda ? 1
(A) Butterfly (B) Millipede
(C) Octopus (D) Scorpion.
frafafad & & &M @1 wEeH AUidEl & ew @ s 7
(A) foaet (B) fiidrs
(©) it (D) faeg
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Which of the following is NOT a biodegradable waste ? 1
(A) Cow-dung (B) Plastic cans
(C) Leaves (D) Twigs

frfafad & 4 @M S fqmesia sufine & §7

(A) T B TEL (B) wWie® & s
(C) (D) z&fm
Describe a method for measuring the volume of a piece of rock salt using a 2

graduated cylinder.

sfemfend fafevst g1 =weeml 9% F THS W AFGT AT @l Aty wr oaue
HTT |

State any two basic criteria that have been taken into consideration for the 2
five - kingdom classification of the living organisms.

Toirg wIvR % uiE S ey % g ee W 7@ MY ey @@ o ¥
fpel a1 @ Sw@ B |

What is the inclination of a polar satellite ? Draw a labelled diagram to show 2
the orbit of a polar satellite having apogee 900 km and perigee 450 km.

fordl gda Iuwe @ i fhal e ¥ fRdl gdlg IwE @ e @ AHithd
AN IIEY @@l wasil 900 km dam ARl 450 km ¥)

Write any four activities that should be included in personal hygiene. 2

AR @ fasm A e fer SR Al el wr wiataftat @ e
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What is meant by dehydration ? What are its early symptoms ? What type of 2
first aid should be given to the victim of dehydration ?

Folieer 9 w7 At 7 9% UKiNe ®er @ & ¢ eldiee 9 difed =t
B hg R & Wulte STUR @ SEsdhal ® 7

Write an expression for the gravitational potential energy of an object. 2
An object of mass 10 kg is at a certain height above the ground. If the potential
energy of the object is 400 J, find the height at which the object is with respect
to the ground. (Take g = 10 ms2)

el a5y & Ted Rufdsr T@f & fWu =dwe WRawl 10 kg 5@ & 06 9%
Tl ¥ T MY un W Rua 3 Ak g @ Team Rufos =i 400 17 A
SH IE W g b 9NE Hds 9| il (g B A 10ms 2 @) |

What is the role of fuse in an electrical circuit ? Why is a fuse wire made of 2

a tin - lead alloy ?

fega oftwer & = & w®& e & 7 wBEar 9wl fo @ g aig e wi
T 7

With the help of a labelled diagram define the terms amplitude, frequency and 4
wavelength of a wave. Write the relation between wave velocity, frequency and

wavelength.

U MR @ Wl GEEd ¥ fREl T % oM, g qem alTee @l
RIS BN T 9, gha aan airee § ey fuied |
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Name two diseases caused due to protein energy malnutrition. State their 4
symptoms. What kind of diet would you suggest for the patients suffering from
these diseases ?

AR H U Sl FUNOT & BRI M A &l A % I FARCI T M &
AT FABTI T UM W AW VAR B A fRE THER & ABR W qA® o7

Draw a neat diagram of a generalized animal cell and label the following parts: 4
(i) Mitochondria (i) Golgi bodies

(iii) Lysosome (iv) Centrioles

el amRga Sg e &1 te @ fo s ey ofR sed e wrn @l
TifeRd BT

() wEerIEAr (i) st

(iif) (iv) drbs (@)

What is meant by rotation of crops ? Why is it advisable to cultivate pulse 4

crops in between two successive cereal crops ?

TEEGS ¥ I AMY™ ¥ 7 & IOUAX S hEd! & 99 q@ed hawl ® S
®H A T A Sl &7

What are soaps ? How are they different from detergents ? Explain the 4
cleansing action of soaps and detergents.

T w1 ¢ P Y AuHehl ¥ g v fee 7 9iga qen oraHmtel @ e
for @ Fifa)
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Draw labelled diagrams showing the position of Sun, Earth and Moon during : 4
(1) a solar eclipse

(i) a lunar eclipse.

i, g g @ Rafo guic 3w mifed e 9Eg
(i) T T8 & I

(i) == TEU % I

Define the terms, bond length and bond energy as applied to a covalent bond. 4
How do the values of bond length and bond energy change with the number of
bonds between two atoms ?

forel weddel oy ¥ H@afym oY wRE 99T A" FHsi UEl @ qieATn SISl
T TS % A AEH ® W e § oY W9 gl dNY el R TeR
ufafia s §°

(a) Derive the SI unit of force using the second law of motion. What is the 4
special name for this unit and write its symbol.

(b) A truck of mass M is moved under a force F. If the truck is then loaded
with an object equal to the mass of the truck and the driving force is halved,
then how does the acceleration change ?

@) a &% X Fm &1 Swr @ 9@ % SI AEe Bl FAS BTl
TG UG hl AT AW Rl ¢ iR e wdie faRad)

(@) M gaOHN & B3 I ANT g F & &Ror Ta9lid &) o9 I < &
FHIE % IUEK § B3 aE ¢h U WK A SW SR TEH U AT Id
H ST HY [T AT A THHT @YU Tehal UAtdd & SEm ?
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What are trophic levels ? Give one example of a food chain and draw a 4
diagram showing its different trophic levels. Why is the flow of energy in a food

chain unidirectional ?

U WX R &7 Th WE GEAT BT SAEXU AN qUT 39 (A 9uer &R hl
T @ § 93y Tpdl @@ i@l § ol &l Yare kel o eidr &7

Why is graphite a good conductor of electricity and a good lubricant ? Explain 4
with the help of a diagram showing the structure of graphite.

YEES Th W fqga oide qo1 3l Wed = ol § 7 YWES W WA i
U UH ANE B GEEAl § ARA] HN)

What is a bimetallic strip ? Why does it bend on heating ? Describe any two 4

uses of a bimetallic strip.

faenge < @ TR ¥ WE T W W M o W 27 fyuige Ut & feel
T ST HT FUN BT |

Describe the construction and working of a refracting telescope with the help 6
of a labelled diagram. Why is it known as astronomical telescope ? What type of

image dues it form ?

e iR RO @ @ WEEAT | AUadl giaell (M) Wl WA qul sEfay
H AU HINY | I GIEE &l W R BB ST ¢ 7 Te R weR @ uldiea
ERIGIIE
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State the Modern Periodic law. What is ionization energy ? Explain why does 6
ionization energy increase from left to right in a period but decrease from top to
bottom in a group ?

snyfe eme v fafaw) omaw ool fee @wea 37 fordl omem o I @ < @
ARX M T ™I Fo & ol 8, Iy a1 H FW F Ah S W el 67
TR HT|

What are endocrine glands ? How do their secretion reach the target site ? 6
Mention one function of each of the following hormones :

(i) Growth hormone (GH)
(i) Insulin

(i) Thyroxin

(iv) Prolactin (PRL)

saEEl U R #ed ¥7 T G W WAl a6 » Ugad & ¢ et
TAEA A § A% B UH Uh B SqEY

() 9= === (GH)
(i) Fgfer

(iil) amgXITeR

(iv) Wt (PRL)
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